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THEX Sy« TH - FERI - HH50 B PO B B G AT & i T (G E LM
g
= 1 141, 206, 133
JE T
= 1 2, 595, 040
I L
= 1 1, 929, 960
I +H
m3 1,200 231.6 277, 920
TRV IE AR +w Cast- EREY +ET) 1,170m3
= 1 1, 652, 040
P T
= 1 665, 080
B s AN T o ALE 5, 200m3
= 1 665, 080
a1
= 1 26, 192, 820
EZE LT
= 1 1,724,914
A FEH) s 330m3
= 1 826, 320
MRL 4.0=W 60m3
= 1 63, 960
FEIA (V-27) b 90m3
= 1 21, 564
FEIA (V-27) Wt 330m3
= 1 98, 076
b S TE b Cash ERIRY L&) 70m3
= 1 26, 754
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b S TE D CEUL EHIRY L& T 20m3
= 1 28, 240
TRV IE AR s 330m3
= 1 660, 000
ST
= 1 5, 426, 656
e BIEAL Hi&1500mm L& GREHE) 6m
i 4 1, 356, 664 5, 426, 656
ESh=E 1SN
= 1 19, 041, 250
¥ Layy)-}h 18-8-40BB W/C=65% t=10cm
m2 43 3,905 167, 915
av)-p 30-12-40BB W/C=50%
m3 267 27,736 7,405, 512
Y] SD345 D13
t 0.53 183, 159 97, 074
ERAR SD345 D16~25
t 13.23 184, 813 2,445, 075
ERAR SD345 D29~32
t 8.25 182, 186 1,503, 034
Tl — AT 390m2
= 1 3, 852, 420
T 22 A A ¢ 175X 4. Omm L=780mm
m 9 1,102 9,918
SR F=<40kN/m2[t=120cm] 2072m3
= 1 75, 300
SR 40kN/m2<f = 80kN/m2[120<t =250¢ 507m3
m]
= 1 311, 600
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js FHE AT E 460+4Hm2
= 1 2,432, 020
KEHE L CC-BBEER
m2 71 10, 442 741, 382
LR T
= 1 58, 591, 044
EE LT
= 1 3, 141, 870
A D FEH) s 230m3
= 1 575, 920
PRAE D b 1, 000m3
= 1 245, 700
MRL 1.0=W<4.0 270m3
= 1 543, 510
MRL 4.0=W 820m3
= 1 874, 120
FASRCNTE: ST i [ 4 L 290m3
= 1 69, 484
FEIA (V-27) +i> 50, 000m3 AT 490m3
= 1 117, 404
FEIA O=27) s 1550, 000m3 A i 230m3
= 1 68, 356
T RS IE AR +w Cast- EREY +ET) 490m3
= 1 187, 376
T RS IE AR s 230m3
= 1 460, 000
/)N =47 my ) T (aV))=b7 "y ) FE)
[Raz&n] [Avfr]
= 1 3,979, 262
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Bl T 3 ) -h 18-8-40BB W/C=60%
m 19 13, 790 262, 010
EVVAR VARV 350
m2 80 34, 266 2, 741, 280
JIRSA - AR (W) RC-40
m3 48 10, 170 488, 160
BT RKias ) -h 18-8-40BB W/C=60%
m3 2 69, 750 139, 500
N ERR=PZ2 RN 18-8-40BB W/C=<60%
m3 3 116, 104 348, 312
29N =47 my ) T (aV))=b7 "y ) FE)
[#350] [A14a1]
= 1 2, 588, 726
Bl T 32 -h 18-8-40BB W/C=60%
m 18 11,795 212, 310
KT ny ) f 500X 998 X 350 A
m2 59 17,235 1,016, 865
A - B5Aav ) -h 18-8-25BB W/C=60%
m3 19 36, 953 702, 107
JIR3A - AR () RC-40
m3 33 6, 962 229, 746
BT RKias ) -h 18-8-40BB W/C=60%
m3 1 69, 750 69, 750
N ERR=PZ0 RN 18-8-40BB W/C=<60%
m3 3 119, 316 357, 948
29N =47 my ) T (aV))=b7 "y ) FE)
[#750] [A2{a1]
= 1 1,907, 259
Bl T 32 -h 18-8-40BB W/C=60%
m 6 14, 238 85, 428
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FERREA RC-40 t=200
m2 7 2,026 14, 182
KT ny ) f 1000 X 1500 X 750 ##F
m2 36 32,923 1, 185, 228
A - B5Aav ) =h 18-8-25BB W/C=60%
m3 11 36, 953 406, 483
JIRSA - AR (W) RC-40
m3 20 6, 962 139, 240
7= LG SD345 D13 L=500
VN 120 57. 6,948
BT RKias ) -h 18-8-40BB W/C=60%
m3 1 69, 750 69, 750
/)N =47 my ) T (aV))=b7 7y ) FE)
[#£1500] [A1al]
= 1 6,459, 613
Bl T 32 -h 18-8-40BB W/C=60%
m 7 25, 478 178, 346
FERREAY RC-40 t=200
m2 14 2,026 28, 364
KT ny ) f 1000 X 1500 X 750 ##F
m2 52 39, 999 2,079, 948
A - B5Aav ) —h 18-8-25BB W/C=60%
m3 39 36, 953 1,441, 167
JIR3A - AR () RC-40
m3 53 6, 962 368, 986
7= LG SD345 D13 L=500
VN 168 57. 9,727
BT RKias ) -h 18-8-40BB W/C=60%
m3 0.5 69, 750 34, 875
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N ERR=PZ0 BN 18-8-40BB W/C=<60%
m3 20 115,910 2, 318, 200
29N =47 my ) T (V)Y =b7 7wy ) FE)
[#£1500] [A2al]
= 1 11, 645, 641
Bl T 3 ) -h 18-8-40BB W/C=60%
m 20 25, 478 509, 560
FERREA RC-40 t=200
m2 38 2,026 76, 988
KT ny ) f 1000 X 1500 X 750 ##F
m2 145 39, 999 5, 799, 855
A - B5Aav ) -h 18-8-25BB W/C=60%
m3 123 36, 953 4, 545, 219
JIR3A - AR () RC-40
m3 88 6, 962 612, 656
7= LG SD345 D13 L=500
VN 546 57. 31,613
BT RKias ) -h 18-8-40BB W/C=60%
m3 1 69, 750 69, 750
/)N =47 my ) T (aV))=b7 "y ) FE)
[4722500]
= 1 28, 602, 220
Bl T 32 -h 18-8-40BB W/C=60%
m 26 40, 466 1,052,116
FERREAY RC-40 t=200
m2 76 2,026 153, 976
KT ny ) f 1000 X 1500 X 750 ##F
m2 208 45, 673 9, 499, 984
A - B5Aav ) —h 18-8-25BB W/C=60%
m3 310 32, 252 9,998, 120
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JIR3A - AR () RC-40
m3 109 6, 962 758, 858
7= LG SD345 D13 L=500
VN 717 57.9 41, 514
BT Kias ) -h 18-8-40BB W/C=60%
m3 2 69, 750 139, 500
N ERR=PZ2 RN 18-8-40BB W/C=60%
m3 24 107, 832 2, 587, 968
A ALER 18-8-40BB W/C=60%
m3 69 63, 336 4,370, 184
PoT
= 1 266, 453
N b LB 0.5X1.0X2.0
m2 11 23,133 254, 463
HHESRE V2]
m3 11 1,090 11, 990
PERE T
= 1 7, 654, 983
EZE LT
= 1 1, 337, 663
PRAE D b 690m3
= 1 169, 533
MRL W<1.0 100m3
= 1 309, 200
MRL 1.0=W<4.0 90m3
= 1 181, 170
b S TE D CEUL EHRY HET) 480m3
= 1 677, 760
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VAR AV IR T RE T (CEREN T
)
= 1 6,317, 320
FERREA RC-40  t=200mm
m2 35 2,026 70,910
Ao B L 18-8-40BB W/C=60%
m 53 9, 302 493, 006
i BR B RE A RELNT - RRE
m2 133 25, 624 3,407, 992
i BRAA B MR B EEESREATKN/m
m2 84 1,637 137, 508
i BRAA B MR B EEESRESTKN/m
m2 336 1,728 580, 608
AR )7 A t=Tmm w=300mm
m 170 683. 116, 127
KR FRHER VA7V R AHEAT 300g/m2
635N/5cm
m2 170 930. 158, 236
W Y UBA IS FRHER VA7V R AHEAT 100g/m2
175N/5¢cm
m2 130 518. 67, 418
VPSRN MV D
m3 45 2,457 110, 565
FEHL-BHL, HED +H
m3 354 1,803 638, 262
FEHL-BHL, HED FAEHEK C-40
m3 72 7, 454 536, 688
AR T
= 1 1,033, 662
AR T
UINEHE A2]
= 1 1,033, 662
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FERREA RC-40 t=100

m2 23 1,559 35, 857
¥ Layy)-}h 18-8-40BB W/C=65% t=10cm

m2 23 3, 300 75, 900
avp)-p 30-12-40BB W/C=<50%

m3 8 35, 055 280, 440
A SD295 D10

t 0.01 180, 239 1,802
A SD345 D13

t 0. 06 183, 159 10, 989
ERAR SD345 D16~25

t 0. 64 181, 212 115, 975
ERAR SD345 D29~32

t 0. 84 182, 186 153, 036
Tl — AT 2m2

= 1 19, 756
27 WK 200mm X 20mm

m2 5 61,118 305, 590
Toh=%vy7" PL- ¢ 60X 3.2

kg 1 113. 113
s 40A X 250

VN 10 301 3,010
H Hi VB HRAME R B Hi =20

m2 6 5, 199 31,194

&S E T
= 1 1, 350, 226
M EUE L 1T
= 1 892, 260
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av)) - M IS B L AT HEEY)
m3 58 8,230 477, 340
av)) - M IS B L ERAHEEY)
m3 22 18, 860 414, 920
TEHRALER T
= 1 457, 966
Prau kil v =ik (SR 61m3
= 1 239, 303
W IE R vy - bk (B5H7) 22m3
= 1 106, 128
LGy 2y -k (SR
m3 61 1,143 69, 723
LGy vk (B%A7)
m3 22 1,946 42, 812
[fTan
= 1 43, 788, 358
THAERK T
= 1 26, 790, 574
I b 1, 300m3
= 1 301, 080
BEAR (L) B+ 2. SmA i om3
Ry 0 0
PR (SR B 2. 5mPh 4. OmA T om3
Ry 0 0
BEAR (FL8R) Bk 1 4. 0omPL_F 9, 100m3
= 1 2, 087, 540
PR (LR B - 4. 0mPL I RC-40 140m3
= 1 757, 260
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RS AC R =) T A [ oD 8 L 110m2
= 1 48,576

Pzl RC-40 t=20cm 490m2
= 1 470, 694

K+ 5 TR BRE M (14F) 1, 88048
= 1 14, 372, 600

KI5 &N 7884%
= 1 604, 002

WHER 2t JUYE - FRE 0%
Ry 0 0

FEIA (V-27) b 12, 300m3
= 1 2,947, 080

TRV IE AR +w Cast- EREY +ET) 13, 610m3
= 1 5,201, 742

b S TE b Cash ERIRY L&) Om3
Ry 0 0

B R B T
= 1 16,997, 784

I b 870m3
= 1 201, 492

K L (=2") Om3
Ry 0 0

K+ 5 RE-FRE, WE 04%
Ry 0 0

K+ 5 TR BRE T (14F) 2034%
= 1 1, 552, 544

K+ 5 &N 1404%
= 1 107, 310
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Wt ER 2t WE-ER, Wk 048
=y 0 0
WEEER 2t FUE-RE 8084%
= 1 12, 593, 488
JEIK =] JZ1. 0+10. Omm 675m2
= 1 2, 042, 550
FEIA (V-27) b 270m3
= 1 64, 692
TRV IE AR +w Cast- EREY +ET) 1, 140m3
= 1 435, 708
b S TE b Cash ERIRY L&) Om3
Ry 0 0
K HE T
Ry 0 0
IR I MER VFv/) 7 % R30 ¢ 400 Om
Ry 0 0
Bly 36 A4 gk MER V2Fvy) 774 R30 ¢ 400 0t
Ry 0 0
B T HE
= 1 141, 206, 133
BTl TE:
= 1 14, 688, 089
B ST ¢
= 1 1, 424, 089
Htre m
= 1 139, 943
IS n AR H R LN
= 1 7,104
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K A2 b EER W/C3-4
] 7 18,977 132, 839
BUGERRYCEE (5 1)
= 1 1, 284, 146
MR R (B L)
= 1 13, 264, 000
Wi
= 1 155, 894, 222
BTk X=giiv oy
= 1 43, 828, 447
R 5]
= 1 199, 722, 669
— R
= 1 31, 087, 331
T HAlik
= 1 230, 810, 000
THE B 2 %8
= 1 23, 081, 000
TG
= 1 253, 891, 000
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THEX Sy« TH - FERI - HH50 B PO B B G AT & i T (G E LM
g
= 1 119, 183, 339
JE T
= 1 2,531, 090
I L
= 1 1, 929, 960
I +H
m3 1,200 231.6 277, 920
TRV IE AR +w Cast- EREY +ET) 1,170m3
= 1 1, 652, 040
P T
= 1 601, 130
B s AN T o ALE 4, 700m3
= 1 601, 130
a1
= 1 26, 192, 820
EZE LT
= 1 1,724,914
A FEH) s 330m3
= 1 826, 320
MRL 4.0=W 60m3
= 1 63, 960
FEIA (V-27) b 90m3
= 1 21, 564
FEIA (V-27) Wt 330m3
= 1 98, 076
b S TE b Cash ERIRY L&) 70m3
= 1 26, 754
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THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM
b S TE D CEUL EHIRY L& T 20m3
= 1 28, 240
TRV IE AR s 330m3
= 1 660, 000
ST
= 1 5, 426, 656
e BIEAL Hi&1500mm L& GREHE) 6m
i 4 1, 356, 664 5, 426, 656
ESh=E 1SN
= 1 19, 041, 250
¥ Layy)-}h 18-8-40BB W/C=65% t=10cm
m2 43 3,905 167, 915
av)-p 30-12-40BB W/C=50%
m3 267 27,736 7,405, 512
Y] SD345 D13
t 0.53 183, 159 97, 074
ERAR SD345 D16~25
t 13.23 184, 813 2,445, 075
ERAR SD345 D29~32
t 8.25 182, 186 1,503, 034
Tl — AT 390m2
= 1 3, 852, 420
T 22 A A ¢ 175X 4. Omm L=780mm
m 9 1,102 9,918
SR F=<40kN/m2[t=120cm] 2072m3
= 1 75, 300
SR 40kN/m2<f = 80kN/m2[120<t =250¢ 507m3
m]
= 1 311, 600
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js FHE AT E 460+4Hm2
= 1 2,432, 020
KEHE L CC-BBEER
m2 71 10, 442 741, 382
LR T
= 1 58, 286, 264
EE LT
= 1 2,837, 090
A D FEH) s 230m3
= 1 575, 920
PRAE D b 1, 000m3
= 1 245, 700
MRL 1.0=W<4.0 270m3
= 1 543, 510
MRL 4.0=W 820m3
= 1 874, 120
FASRCNTE: ST i [ 4 L 290m3
= 1 69, 484
FEIA (V-27) et 18550, 000m3 AT 230m3
= 1 68, 356
T RS IE AR s 230m3
= 1 460, 000
/)N =47 my ) T (aV))=b7 "y ) FE)
[RA&n] [Arfr]
= 1 3,979, 262
Bl T 3 ) -h 18-8-40BB W/C=60%
m 19 13, 790 262, 010
) =b7" ny s fl #2350
m2 80 34, 266 2, 741, 280
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JIR3A - AR () RC-40
m3 48 10, 170 488, 160
BT RKias ) -h 18-8-40BB W/C=60%
m3 2 69, 750 139, 500
N ERR=PZ0 BN 18-8-40BB W/C=<60%
m3 3 116, 104 348, 312
29N =47 my ) T (aV))=b7 7wy ) FE)
[#350] [A14a1]
= 1 2, 588, 726
Bl T 32 -h 18-8-40BB W/C=60%
m 18 11,795 212, 310
KT ny ) f 500X 998 X 350 A
m2 59 17,235 1,016, 865
A - B5Aav ) -h 18-8-25BB W/C=60%
m3 19 36, 953 702, 107
JIR3A - AR () RC-40
m3 33 6, 962 229, 746
BT RKias ) -h 18-8-40BB W/C=60%
m3 1 69, 750 69, 750
N ERR=PZ0 RN 18-8-40BB W/C=<60%
m3 3 119, 316 357, 948
/)N =47 my ) T (aV))=b7 "y ) FE)
[#750] [A2{a1]
= 1 1,907, 259
Bl T 3 ) -h 18-8-40BB W/C=60%
m 6 14, 238 85, 428
FERREAY RC-40 t=200
m2 7 2,026 14, 182
KT ny ) f 1000 X 1500 X 750 ##F
m2 36 32,923 1, 185, 228
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A - E5Aav ) -h 18-8-25BB W/C=60%
m3 11 36, 953 406, 483
JIR3A - AR () RC-40
m3 20 6, 962 139, 240
7= LG SD345 D13 L=500
VN 120 57. 6,948
BT RKias ) -h 18-8-40BB W/C=60%
m3 1 69, 750 69, 750
29N =47 my ) T (aV))=b7 7wy ) FE)
[#£1500] [A1al]
= 1 6,459, 613
Bl T 32 -h 18-8-40BB W/C=60%
m 7 25, 478 178, 346
FERREA RC-40 t=200
m2 14 2,026 28, 364
KT ny ) f 1000 X 1500 X 750 #F
m2 52 39, 999 2,079, 948
A - B5Aav ) -h 18-8-25BB W/C=60%
m3 39 36, 953 1,441, 167
JIR3A - AR () RC-40
m3 53 6, 962 368, 986
7= LG SD345 D13 L=500
VN 168 57. 9,727
BT Kia ) -h 18-8-40BB W/C=60%
m3 0. 69, 750 34, 875
N ERR=PZ0 RN 18-8-40BB W/C=<60%
m3 20 115,910 2, 318, 200
/)N =47 my ) T (aV))=b7 "y ) FE)
[#£1500] [A2l]
= 1 11, 645, 641
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Bl T 3 ) -h 18-8-40BB W/C=60%
m 20 25, 478 509, 560
FERREA RC-40 t=200
m2 38 2,026 76, 988
KT ny ) f 1000 X 1500 X 750 ##F
m2 145 39, 999 5, 799, 855
A - B5Aav ) =h 18-8-25BB W/C=60%
m3 123 36, 953 4, 545, 219
JIR3A - AR () RC-40
m3 88 6, 962 612, 656
7= LG SD345 D13 L=500
VN 546 57.9 31,613
BT RKias ) -h 18-8-40BB W/C=60%
m3 1 69, 750 69, 750
29N =47 my ) T (aV))=b7 "y ) FE)
[4722500]
= 1 28, 602, 220
Bl T 32 -h 18-8-40BB W/C=60%
m 26 40, 466 1,052,116
FERREAY RC-40 t=200
m2 76 2,026 153, 976
KT ny ) f 1000 X 1500 X 750 ##F
m2 208 45, 673 9, 499, 984
A - B5Aav ) —h 18-8-25BB W/C=60%
m3 310 32, 252 9,998, 120
JIR3A - AR () RC-40
m3 109 6, 962 758, 858
7= LG SD345 D13 L=500
VN 717 57.9 41,514
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BT RKias ) -h 18-8-40BB W/C=60%
m3 2 69, 750 139, 500
N ERR=PZ0 BN 18-8-40BB W/C=60%
m3 24 107, 832 2, 587, 968
A ALER 18-8-40BB W/C=60%
m3 69 63, 336 4,370, 184
PoT
= 1 266, 453
N b LR 0.5X1.0X2.0
m2 11 23,133 254, 463
HHESRE V2]
m3 11 1,090 11, 990
PERE T
= 1 7, 654, 983
EE LT
= 1 1, 337, 663
RAE D b 690m3
= 1 169, 533
MRL W<1.0 100m3
= 1 309, 200
MRL 1.0=W<4.0 90m3
= 1 181, 170
b TE A CEUL EHIRY L& T 480m3
= 1 677, 760
VAR AV IR T RE T (CEREN T
)
= 1 6,317, 320
FERREAY RC-40  t=200mm
m2 35 2,026 70,910
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Ao A L 18-8-40BB W/C=60%
m 53 9, 302 493, 006
BR L RERE A HELNT - RRE
m2 133 25, 624 3,407, 992
i BRAA B MR B EEESREATKN/m
m2 84 1,637 137, 508
i BRAA B MR B EEESRESTKN/m
m2 336 1,728 580, 608
AR )7 A t=Tmm w=300mm
m 170 683. 1 116, 127
KR FRHER Va7V R KA 300g/m2
635N/5¢m
m2 170 930. 8 158, 236
W U BG 1A FRHER VA7V R ANHEAT 100g/m2
175N/5¢cm
m2 130 518.6 67, 418
VPSRN MAVS D
m3 45 2,457 110, 565
FEHL-BHL, HED +H
m3 354 1,803 638, 262
FEHL-BHL., FHED HAEHEK C-40
m3 72 7,454 536, 688
AR T
= 1 1,033, 662
AR T
/NEHE A2]
= 1 1,033, 662
FERREAY RC-40 t=100
m2 23 1,559 35, 857
¥ Layy)-}h 18-8-40BB W/C=65% t=10cm
m2 23 3, 300 75, 900
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avp)-p 30-12-40BB W/C=<50%

m3 8 35, 055 280, 440
A SD295 D10

t 0.01 180, 239 1,802
A SD345 D13

t 0. 06 183, 159 10, 989
ERAR SD345 D16~25

t 0. 64 181, 212 115, 975
ERAR SD345 D29~32

t 0. 84 182, 186 153, 036
Tl — AT 2m2

= 1 19, 756
27 WK 200mm X 20mm

m2 5 61,118 305, 590
Toh=%vy7" PL- ¢ 60X 3.2

kg 1 113.8 113
s 40A X 250

VN 10 301 3,010
H Hi VB HRHE R B Hi =20

m2 6 5, 199 31,194

&S E T
= 1 1, 350, 226
M EUE L 1T

= 1 892, 260
vy~ M IS B L AT HEEY)

m3 58 8,230 477, 340
) - M IS B L ERAHHEEY)

m3 22 18, 860 414, 920
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TEHRALER T
= 1 457, 966
B vy - ik (FEA7) 61m3
= 1 239, 303
eI vy bk (B5A7) 22m3
= 1 106, 128
LGy v =ik (SR
m3 61 1,143 69, 723
LGy av)) -k (B%#5)
m3 22 1,946 42, 812
e
= 1 22, 134, 294
THAERK T
= 1 12, 803, 902
I b 1, 000m3
= 1 231, 600
BEAR (FL8R) Bk 1 2. SmA i 140m3
= 1 889, 000
BEAR (L) B+ 2. 5ml 4. OmATH; 320m3
= 1 267, 808
BEAR (L) B+ 4. 0mPL_F 4, 900m3
= 1 1, 124, 060
Pzl RC-40 t=20cm 330m2
= 1 316, 998
KAE+0 5 RE-FRE MM (14F) 11148
= 1 848, 595
REER 2t Wi - @B 2494%
= 1 3, 879, 669
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FEIA (V-27) b 6, 100m3
= 1, 461, 560
TRV IE AR +w Cast- EREY +ET) 6, 060m3
= 2,316, 132
TRV IE AR +w Cast- EREY +ET) 1, 040m3
= 1, 468, 480
B R B T
= 8, 895, 699
I b 1, 500m3
= 347, 400
L L (-2") 1, 500m3
= 197, 250
K+ 5 E-RE, ik 44148
= 3,709, 692
WREEEA 2t WVE-FR. Wk 4343
= 772, 925
JEIK =] J&Z1. 0+10. Omm 230n2
= 695, 980
FEIA (V-27) b 2, 200m3
= 527, 120
T RS IE AR +w Cast- EREY +ET) 1, 860m3
= 710, 892
T RS IE AR +w Cast- EREY +ET) 1, 370m3
= 1, 934, 440
A EE T
= 434, 693
IR U MER VFv/) 7 % R30 ¢ 400 23m
= 431, 549
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Bly 36 A4 gk MHER V2Fv/) 774 R30 ¢ 400 0.3t
= 1 3, 144
B T HE
= 1 119, 183, 339
B ST ¢
= 1 12, 963, 048
BTl E:
= 1 1, 259, 142
Htre m
= 1 139, 943
A n AR H R R LN
= 1 7,104
K A2 b EER W/C3-4
] 7 18,977 132, 839
BUGERRYGEE (5 1)
= 1 1,119,199
MR R (L)
= 1 11, 703, 906
Wi
= 1 132, 146, 387
BTk X=giiv oy
= 1 38, 072, 246
R 5]
= 1 170, 218, 633
— e
= 1 27, 091, 367
TSk
= 1 197, 310, 000
- 12 - ELARims  Abkizhh )y 80w &




HOOflf =%

THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM
THE B 2 %8
= 1 19, 731, 000
TG
= 1 217, 041, 000
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